- Accessories

Accessories

Product Name
3M™ Fibre Disc Accessories

Qty./Case

For Use With

Size/Description

Max RPM

3M™ Disc Pad Hubt

051141-28442-2 @

2-1/2" Diameter,;

angle tool with a
5/8—11 threaded shaft

Short shaft tools" 3/8—-24 metal insert
3M™ Disc Pad Face Plates
051144-45205-7 (all sizes)’ ot Diameter
10 3M™ Disc Pad Face Plates 5/8-11 metal insert N/A
051144-88743-9 (all sizes, tool shaft
51694 length 1/2" or less)t
3M™ Disc Pad Face Plates 4-1/2" Diameter;
Ul IR (7" or largen! 5/8—11 metal insert
sm Low 3M™ Disc Pad Face Plates
Profile , 2-1/2" Diameter,;
Disc Pad 051141-28476-7 (all sizes, tool shaft _ o N/A
pisc. @ length 1/2" o less)! 5/8-11 metal insert
712406
3M™ Disc Pad Face Plates 4-1/2" Diameter; Smooth;
4-1/2" Diameter; Smooth;
051144-14270-5 Hard — Black 13,300
4-1/2" Diameter; Ribbed;
051141-28443-9 (G Fxtra Hard — Red
5" Diameter; Ribbed;
051144-81734-4 Medium — Gray
) . 5" Diameter; Ribbed;
051144-81733-7 10 Fibre Discs Hard — Black 12,000
5" Diameter; Ribbed;
051144-81732-0 Extra Hard — Red
7" Diameter; Ribbed;
051144-80516-7 Medium — Gray
7" Diameter; Ribbed;
051144-80515-0 Hard — Black 8,600
7" Diameter; Ribbed;
3M™ Fibre Disc
Backup Pad and 4" Fibre Discs with
Retainer Nut o 051141-28530-6@ 1 5/8" Center Hole 4" Diameter; 3/8—24 INT 15,000
3M™ TN Quick
Change Disc
Backup Pad 051111-56573-5 5 4-1/2" TN Discs 4-1/2" x 5/8-11 INT 13,300
352092
3M™ Disc Retainer Nuts 051111 -51047-6 5/16" Depth; 5/8—11 Thread
051144 -05622-4 10 V™ DiSC. Pad Face Plates 3/8" Depth, 5/8—11 Thread WA
- 051144 -05621-7 and Disc Pad Hubs 1/2" Depth; 5/8—11 Thread
S 051144 -05620-0 5/8" Depth; 5/8—11 Thread
3M™ Disc Holder 048011-22971-3 Converts grinders with M10-1.25 INT
Adapter No. 9 M10-1.25, M10-1.5, or
048011-22972-0 10 3/8-24 external threaded M10-1.50 INT N/A
“ shaft to a 5/8-11
1289 048011-22970-6 external threaded shaft 3/8-24 INT
3M™ Flap Discs/Bonded Wheels Accessories
Flap Disc/ Secures 4-1/2" diameter
Grinding Wheel flap discs or 4-1/2"
Adapter Nut 051144-88765-1 | 1 Pair/5 Pairs grinding wheels to right 5/8-11 Thread Size N/A
158149

T Also for use with Scotch-Brite Light Grinding and Blending Discs.




Accessories

Accessories
Product Name UPC Qty./Case For Use With Size/Description Max RPM
3M™ Flap Discs/Bonded Wheels Accessories (cont.)
Flap Disc ;
Ho|r()jer ;"\ 1o Backup plate for 7" diameter 4" Diameter:
( P 051144-88769-9 1 flap discs or 8" diameter 5/8-11 Thread Size N/A
- 4 type 27 grinding wheels
3M™ Green Corps™ Flexible 051111-51046 Backup plate for 4-1/2" center | 7/8" Center Hole Diameter;
Grinding Disc ﬁ 5100 hole flexible grinding wheel 3-3/8" Diameter; Clear A
Eh" ) 051111-51045 Backup plate for 7" center 7/8" Center Hole Diameter;
_ 0 hole flexible grinding wheel 4-5/8" Diameter; Clear
3M™ Roloc™ Disc Accessories
3M™ Roloc™ TR Disc Pads 1" Diameter; Medium;
051144-45101-2 1/4-20 INT
1-1/2" Diameter; Medium;
;—%—K 051144-45099-2 T 30,000
1-1/2" Diameter; Hard;
78458 051144-45100-5 1/4-20 INT
051144-45095-4 2" Diameter; Medium;
- 1/4-20 INT
2" Diameter; Hard; 25,000
12923 051144-45096-1 1/4-20 |’NT ’
3" Diameter; Medium;
051144-45092-3 1/4-20 INT 18,000
- ™ ) 3" Diameter; Hard;
051144-45091-6 5 3M™ Roloc™ TR Discs 1/4-20 INT 20,000
4" Diameter; Medium;
051144-45179-1 1/4-20 INT
4" Diameter; Hard;
051141-28474-3 @ .
051141-28475-0 @ 4" Diameter; Extra Hard;
3/8-24 INT
4" Diameter; Medium; 12,000
051144-83242-2 56811 INT
4" Diameter; Hard;
051144-83489-1 5/8—11 INT
4" Diameter; Extra Hard;
051144-83980-3 5/8-11 INT
3M™ Roloc™ Cool
Running Disc 051111-56479-0 @ 4", 3/8-24 INT
Pads 5 3M™ Roloc™ TR Discs —
051141-28473-6 @ 4" 5/8-11 INT
733191
3M™ Roloc™ TS 051144-77729-7 1-1/2"; Medium
or TSM Disc Pads 30,000
D 051144-77728-0 1-1/2"; Hard
051144-14211-8 ™ ™ i 2" Medi
- 5 3M™ Roloc™ TSM Discs and edium 95,000
051144-14212-5 screw on” abrasive discs 2" Hard '
) 051144-14215-6 3" Medium 18,000
12870 051144-14216-3 3": Hard 20,000
3M™ Roloc™ TP Disc Pads 051144-14201-9 3"; Medium; 1/4-20 INT 18,000
5 3M™ Roloc™ TP Discs
051144-14202-6 3"; Hard; 1/4-20 INT 20,000
1/4" Threaded Shaft .
’ 051144-45102-9 |  10/50 Used on 3M" Roloc ™ Disc 1/4" x 1/4-20 Thread N/A

S
i

158006

Pads with 1/4-20 INT




- Accessories

Accessories
Product Name UPC Qty./Case For Use With Size/Description Max RPM
3M™ Roloc™ Disc Accessories (cont.)
3M™ Roloc™ + Holder
3M™ Roloc™ Unitized Wheels, .
048011-15408-4 5 Roloc™+ Products, Brush ’ /41.. S'ﬁf{g‘g}g;{éter 25,000
and Disc Accessories
51732
Scotch-Brite™ Light Grinding and Blending Disc Accessories
3M™ Disc Pad Face Plates* 051144-14270-5 4-1/2" Diameter; Smooth;
4—1/2'!-|€Diir:rr:etBe!iC:ibbed' 13,300
051141-28443-9 (EID i a4
) I 5" Diameter; Ribbed;
051144-81733-7 " Light Gr_inding Hard — Black 12000
051144-81732-0 and Blending Discs 5" Diameter; Ribbed; ’
51695 Extra Hard — Red
051144-80515-0 " Dﬁ%%et—erél?cibed;
051144-80514-3 7" Diameter; Ribbed; 8,600
Extra Hard — Red
3M™ Hook-and-Loop Disc
Pad Holder Seotch-Brite™ Light
cotch-Brite™ Lig " " .
051141-20245-7 1 Grinding and Blending 78 Center Post 8,500
Disc Accessories
Scotch-Brite™ Disc Accessories
3M™ Hook-and-Loop o ]
Disc Pad Holders 048011-07494-8 gatglé‘é Shenkl 23,000
Disc Pad Holder 14470 10
No. 922 and 923 o ‘
048011-04132-2 gat% Shenkl 20,000
Nocazs oo b 4" (1/4" shank)
0. )
369359 L BURUGE S Catalog No. 924
Disc Pad 4" x1/8" x 3/8" 5/8-11 INT;
48011-05674- ’
HS'.“&Z ” 048011-05674-6 Catalog No. 914
614622 13,000
4-1/2" —11 INT;
bise Pad 048011-14111-4 Ce/ltal(;(g5l<l?). el
HS"‘§1'45 Scotch-Brite™ Surface
and 915 Conditioning Discs . .
pisis 048011-05680-7 TNy, 815
Blscglagd Holder
o " - .
m S| 048011-00448-9 1 5c;(ta5|/o1g6N§49Eo)g' 10,000
Dis Pad Holdr g
14460 048011-09450-2 Eai‘a?({gg,‘\ly M
Disc Pad i .
Holer No. ‘ J 051141-20279-2 7 x 1" x5/8-11 INT; 6,000
63689 .

Dlsc Pad Holder Q
95288

048011-09451-9

Catalog No. 947TH

8" x 5/16" x 3/8" 5/8-11 INT;

Catalog No. 918

* Must be used with 3M™ Disc Pad Hubs. See page 72.




Accessories

Accessories

Product Name

Qty./Case

For Use With

Size/Description

Max RPM Max OPM

Scotch-Brite™ Disc Accessories (cont.)
3M™ TN Quick Change
Disc Backup Pad
051111-56573-5 5 4-1/2" TN Discs 4-1/2" X 5/8-11 INT 13,300 N/A
352092
Mandrels't y
. & ‘hswzo
w 048011-13968-5 5 Catalog Mo- 933: 14000 | N/A
14360 Q Furnished complete
Mandrel No. 933 Mandrel No. 934 with washers to fit
1/4" Shaft Dia.  1/2" Shaft Dia. available wheel and
o disc sizestt
- . 12864 .
: BT :@: 048011-04021-9 1 o qatalog o 934 o | 12000 |
Mandrel ;
No. 933 0r 934  Disc
3M™ Wheel Adapter Kits
o~ Part No. 28419;
O(¢ »‘80 ° 051141-28419-4 (D 1 o0 BXT N/A
(o]
00°°
: - 3M™ Inline Sanders;
- £ 4" 6" 8" See MOS
h— ) . Scotch-Brite™ Surface Part No. 45038; of abrasive
. j | 051144-45038-1 (D 1 Conditioning Discs; 5/8—11 EXT dscor | VA
o Py <) Wheels with 1/2"-1" wheel
= center holes
3M™ Spindle Extender Kit
,.-F\‘ 048011-04019-6 1 Part No. 300 N/A
—
3M™ Hookit™ Disc Accessories
3M™ Hookit™ Disc Pad 051131-05755-5 5" X 3/8" x 5/16-24 EXT 12,000 | 12,000
051144-85096-9 5" X 5/8" x 5/8-11 INT 12,000 N/A
( A\/F 051144-13625-4 10 | sotchvbrie” Coating |51 gy 516 2000 | 10,000 | 12,000
, J Removal Discs i i
\ A= 051144-85105-8 5x 3/4" x 5/8-11 INT 12,000 N/A
S 051144-13627-8 1 7"x1" x 5/8-11 INT 6,000 N/A
3M™ Stikit™ Disc Accessories
3M"™ Stikit™ Disc Pads 051131-05545-2 o116y ;ﬁi‘sﬁ‘ngﬂ? 12,000 | 12,000
=
10 . . :
. 051131-05565-1 O'x 38 SIG24EXT 1 12,000 | 12,000
6" x 3/8" x 5/16-24 EXT;
. 051131-05556-8 o Profle 10,000 | 12,000
051144-05575-3 ™ G D 5" x 3/4" x 5/16-24
110 S Stikit™ Discs 10,000 | 12,000
051144-05576-0 6" x 3/4" x 5/16-24
051144-05579-1 1 8" x 5/8-11 INT 3,000 N/A
051111-55813-3 5 5" x 1/2" 5/8-11 INT 12,000 N/A
051141-20351-5 OXSB XSIE-ZAEXT 1 45000 | 12,000
10 . o :
051141-20354-6 688 XSIEZAEXT 1 45000 | 12,000

11 Also for use with Unitized Wheels.

| 75



- Accessories

Accessories
Max RPM
Product Name UPC Qty./Case For Use With Size/Description (Max OPM)
3M™ Stikit™ Disc Accessories (cont.)
3M™ Stikit™ - " " 10,000
Disc Pads - 051144-81821-1 5" x 3/4" 5/16-24 EXT (12,000)
(cont) . 051144-82189-1 10 3M™ Stikit™ Discs 5" x 3/4" 5/8-11 INT 12,000
" " 10,000
o 051144-88736-1 5" x 3/8" 5/16-24 EXT (12,000)
3M™ PSA Disc Accessories
PSA Disc Holder 051144-45070-1 2" Diameter 15,000
10 Any air or electric grinding
| tool that accommodates a .
’ 051144-05510-4 1/4" shank: Supports 3" Diameter 10,000
V' 4 248D/348D PSA disc
& 051144-45068-8 5 5" Diameter 6,000
Unitized Wheel Accessories
Mandrels Mandrel .
No.990 | 048011-04018-9 Mandrel o, 330 1 22,200
51733 TN 5 Scotch-Brite™
‘ -z ' Unitized Wheels Mandrel No. 990 with 3" wheel;
I\Nllgnéiégl 51734 048011-15012-3 1-3/4"x 1/4" x 1" 18,200
Convolute Wheel Accessories
Flange Adapter Kit No. 5 6" Wheels; Telescoping
048011-16859-3 wheel adapters 1"and 1/2" 1"x1/2" x1/2"
wide to reduce 1" wheel
1 et cores to fit 1/2", 5/8", 3/4", N/A
048011-16860-9 or 7/8" shafts; Must be 1" x1"x1/2"
5178 used with side flanges
Flap Wheel Accessories
Wheel Adapter Kit No. 3 051144-45035-0 1"0Dx1/2"ID
/ .ﬁ 051144-45034-3 Two arbor hole (plug type) 1" 0D x5/8"ID
! 1 adapters for 6" and 8" N/A
051144-45033-6 diameter flap wheels 1" 0D x3/4"ID
85398
- 051144-45032-9 1" 0D x 7/8" ID
Wheel Adapter Kit No. 81A
‘.wsm 051144-45081-7 1 For T84 Flap Wheels 1/4" x 1/4-20 INT N/A
Star Accessories
Mandrel
No. 944 Scotch-Brite™ Stars for
048011-13928-9 1 cleaning and polishing internal 1/4" x 1/4-20 EXT 25,100
diameters of pipe and tubing
157990
Cross Buff Accessories
SM™ Mandral Scotch-Brite™ Cross Buffs for Dependent
048011-14307-8 1 cleaning and polishing internal 1/4" x 8- 32 EXT upon abrasive
. 158019 diameters of pipe and tubing product used
Cartridge Roll Accessories
3M™ Mandrels —— " 24,000 (1/2"
051144-45119-7 1/8"x1"x 1/4 and smaller
N rtridge roll
. ) Screw-type mandrels for oy qu " e .
\. 051144-45117-3 25 securing cartridge rolls 1o tool 3/16"x1"x 1/4 16d|5167(1)e(tg/r23,"_

51755

/

051144-45118-0

3/16" x 1-1/2" x 1/4"

3/4" cartridge
roll diameter)




Accessories

Accessories
Product Name UPC Qty./Case For Use With Size/Description Max RPM
Cross and Square Pad Accessories
3M™ Square 051144-14308-5 ) 1/4" x 1/4—20 EXT
and Cross 1 Used for holding square and Dependent
Pad Mandrel 051144-14307-8 cross pads with 1/4—20 and 1/4" x 8—32 EXT upon abrasive
i 8—32 internal threaded inserts product used
————— 051141-28385-2 5 1/4" x 3-48 EXT
Band and Belt Accessories
Rubber Slotted 051144-77717-4 1" x 1" x 1/4" 18,000
Expander Wheels
051144-77718-1 1-1/2" x 1" x 1/4" 14,000
051144-77720-4 2"x1"x1/4" 12,000
Slotted wheels for 0y ou "
oo 051144-77721-1 1 Use with bands 2"x2"x1/4 6.000
051144-77722-8 3" x 3" x 5/8-INT
a 051141-28348-7 5" x 3-1/2" 5/8" Arbor Hole 2500
591935 051141-28349-4 3-1/4" x 3" 5/8" Arbor Hole ’
Rubber Cushion 051144-45159-3 1/4" x 1/2" x 1/8" 23,000
Polishing Wheels
051144-45156-2 172" x 1/2" x 1/4" 30,000
051144-45153-1 172" x 1" x 1/4"
15,000
051144-45152-4 172" x 1-1/2" x 1/4"
051144-45145-6 3/4" x 1" x 1/4" 17,000
051144-45144-9 3/4" x 1-1/2" x 1/4" 10,000
‘ 051144-45139-5 1" x1"x 1/4" 18,000
Use with bands when " " P
051144-45138-8 1 creating fine finishes 1" x1-1/2"x 1/4 10,000
,’ 051144-45132-6 1-1/2" x 1" x 1/4" 14,000
051144-45131-9 1-1/2" x 1-1/2" x 1/4" 10,000
051144-45130-2 1-1/2" x 2" x 1/4" 8,000
051144-45129-6 2"x1"x1/4" 11,000
051144-45127-2 2"x 2" x1/4" 6,000
051144-45124-1 3"x3"x3/8"
3,000
051144-45123-4 3"x3"x1/2"
Utility Cloth Sheet and Roll Accessories
Forked Spindle 51772
S —— 051144-45121-0 10 For attaching utility cloth strips 1/4" x 3" N/A
Wetordry™ Accessories
3M™ Wetordry™ Sponge Pad | 051131-05526-1 50 Wetordry™ Paper Sheets o3y 510" x 33" A
™ HPE u - X - X
3M™ Stikit™ Soft Hand Pad 051144-05530-2 5/10 Stikit™ Sheet Rolls
Scotch-Brite™ Hand Pad Accessories
Scotch-Brite™ Pad Holder
No. 961 _ Scotch-Brite™ Hand Pads;
[ = Provides increased " "
,_ - N 048011-09493-4 10 leverage and eliminates 3-1/2" x 4-3/4 N/A
\/ “finger” marks
51766
Scotch-Brite™ Roll Accessories
Mini Mandrel No. 935
Scotch-Brite™ Strips
048011-04020-2 5 to clgan and polish 2.7/8" x 1/4" 14,000

inner diameters and
other tight areas




